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Slack — Bring your team together with Slack, the collaboration hub for work.

Language -- select  _1

int main()

HTML,JS,CSS
Ruby

Perl

Pascal

R

Fortran

Haskell
Assembly(GCC)
Objective C
SQLite
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- 0) |{
.out.printf("sqrt(x) = %8.3f\n", - SQre(x));

.out.printf("out of range, x = %8.3f\n", x);
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2 import java.util.Scanner;
3 public class Main

: ‘0id main( [] args) {
louble x;
Scanner s = new Scanner( -1
.out.println("Please Enter x =");
x = s.nextDouble();
out.printf("sqrt(x) = %8.3f\n", .sqrt(x));

13



BIRE 1. FARDTE = 8
FENV N R T — I ZEFRAHAAT, FHIBDHEE
RRZTDTOTS L
- BU, BDHEDIFE(IC(E, [HBETERV\CE] 78
KT DAYV —ZZFRRITD
IEFXZEFO0ODEE : sqrt() ZEO>TEHETES
BDEE: [FHETETRVIE] &, HRD
12 x DIEBRR

« BTHAINESMMC L O TRADIRZEITSI2HIC if X
ZED

14



Import java.lang.Math;
Import java.util.Scanner;
public class Main

{ ik

public static void main(String[] args) {
double x;
Scanner s = new Scann ystem.in);
System.out.printl ease Enter x =");

X = s.nextDetble(); EHHLEDIIDIZESICEITEIN

if (x >=0){ DEND
System.out.printf("sqrt(x) = %8.3f¥n", Math.sqrt(x));

} else {
System.out.printf("out of range, x = %8.3f¥n", X);

} EHH RO TERVMESICRT

} =355
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System.out.printin("Please Enter X ="); rpjcase Enter x = | ZFR

l

x = s.nextDouble():| ZENVNBREST —F ZEFidHAH
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System.out.printf("sqrt(x) = %8.3f¥n", Math.sqrt(x));
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System.out.printf("sqrt(x) = %8.3f¥n", Math.sqgrt(x));
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System.out.printf("sqrt(x) = %8.3f¥n", Math.sqrt(x));
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import java.lang.Math;

import java.util. Scanner;
public class Main

public static void main(String[] args) {

double x;

Scanner s = new Scanner(System.in);

System.out.printin("juuryou?");

X = s.nextDouble();
if (x <= 25) {

{
}
}
}
}
}

System.out.printin("84 Yen"),

else if (x <=50) {

System.out.printin("94 Yen"),

else {

System.out.printin(* Too heavy");

‘:":JlT.gi-ﬂm- g :n'r_l;l.f'

X <= 25 B\ D3IID
BRICEITENDED

X <= 25 B\ DIII=T,
X <= 50 B\ D IZID
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X <= 25 6 DIIIET,

X <= 50 B D IZT=TR N

IBAICRITINDED
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System.out.printin("84 Yen");

System.out.println("94 Yen");

System.out.printin("Too heavy");

B

A
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import java.lang.Math;
import java.util.Scanner;
public class Main
{
public static void main(String[] args) {
double x;
Scanner s = new Scanner(System.in);
System.out.printin("juuryou?");
X = s.nextDouble();
if (x <= 25) {

System.out.printin("84 Yen");

}else if (X <=501]1

System.out.printin("94 Yen");

} else |

System.out.printin("Too heavy");
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import java.lang.Math;

import java.util.Scanner;

public class Main

{

public static void main(String[] args) {

double a, b, c, D;
Scanner s = new Scanner(System.in);
System.out.printin("Please Enter a =");
a = s.nextDouble();
System.out.printin("Please Enter b =");
b = s.nextDouble();
System.out.printin("Please Enter ¢ =");
c = s.nextDouble();
D=b*b-4*a*c;
if (D>0){

System.out.printf("x = %8.3f, %8.3f¥n",

(-b + Math.sqrt(D)) / (2 * a),

(-b - Math.sqrt(D)) / (2 * a));

}elseif (D==0){

System.out.printf("x = %8.3f¥n", -b / (2*a));

} else {

System.out.printf("x = %8.3f + %8.3f i, %8.3f - %8.3f i¥n",
-b / (2 * a), Math.sqrt(-D) / (2 * a),
-b /(2 * a), Math.sqrt(-D) / (2 * a));

S i Rredeed 1 :n'(_rr.li:
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Please Enter c
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X = -2.000, -3.000

Please Enter a
-2

Please Enter b -
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X = -2.000
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1
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0.866 i, =0.500 -
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import java.lang.Math; “gw

Import java.util.Scanner;
public class Main

{

public static void main(String[] args) {
double a, b, c, d;
Scanner s = new Scanner(System.in);
System.out.printin("Please Enter a =");
a = s.nextDouble();
System.out.printin("Please Enter b =");
b = s.nextDouble();

System.out.printin("Please Enter ¢ ="); Z{4H\E D IIDIES(C

c = s.nextDouble(); 4=

£ (22= 0) && (b == O) { EiT=N3ED
System.out.printin("a=0 and b=0!");

} else |

d = Math.abs(c) / Math.sqgrt(a*a + b * b);
System.out.printf("d = %8.3f¥n", d);
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XxX=-c/b
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elseif (a==0) && (b '=0)) {
System.out.printf("x = %8.3f", -c / b);
}

36



